3677 250B KwlUaZ/so%>Y POWERLINE

[ USA NO.6220773 — NO.6221150] [NO.1000001

— NO.1000198]

R HaES EILEE2R Es%| & <t H B A5 % B &
#
%
NO. PART NO. PART NAME | Q'ty | DESCRIPTION| R/P| FROM ~ UP TO SERIAL NO. | REMARKS
1 3677 2501 000 |7v¥av7—A TENSION ARM| 1
2 0797 0202 315 |7'yva BUSH 2 ]J20x23x15
3 0350 0162 034 |PW WASHER 1 ]20x34x3.2
4 0740 0002 000 |CYvy RING 2 |S20
5 5310 2405 000 |7°—Y) PULLEY 1
6 | 0750 0563 044 |A'7YVY BEARING 1
7 0741 0005 200 |CYvy RING 1 |H52
8 F301 0108 000 |F}vt NUT 1 |M8
9 0834 0055 080 |V/—IL¥+vy7’ SEAL CAP 1 |55x8
10 | 3673 2511 000 |7°—YAssy PULLEY ASSY | 1
11 | 3308 3016 000 [R7°Yv" SPRING 1 |#145
12 | 3677 2503 000 |Ayt ROD 1
13 | 3507 3208 000 |7vvavk*nyh'B ROD 1
14 | 3208 3410 000 |4—=un'y9lL TURNBUCKLE | 1 [M8 x50
15 ]| A301 0108 003 |+t NUT 2 |M8
16 | A301 2108 003 |+t NUT 1 |M8L
17 ] 3677 2505 000 |9 LINK 1
18 | A650 0100 600 [4')—=R=vy7lL NIPPLE GREASE| 2 |A-M6
19 | 3677 2511 000 |t~ PIN 1
20 | K110 0108 016 |Fi'JLb BOLT 3 |M8x16(4T)
21 | 3677 2513 000 |Ayk ROD 1
22 | 3677 2515000 |7'L—F PLATE 1
23 | 0562 0108 022 |E574vE™Y PIN 4 |p8x22
24 | 0350 0140 818 |PW WASHER 4 |8x18%1.6
25 | 05200125016 |7ty PIN SPLIT 4 ]25%16
S100 —95— 20/10/27



3677 250B KwlUaZso%>Y POWERLINE
[ USA NO.6220773 — NO.6221150] [NO.1000001 -

NO.1000198]

R i =
NO. PART NO. PART NAME | Q'ty | DESCRIPTION| R/P| FRoOM ~ UP TO SERIAL NO. | REMARKS
26 | 3677 2521 000 |Ln'— LEVER 1
27 | 0691 0012 250 |%')y7° GRIP 1 |12
28 | 3611 1807 000 |ha'3'A GROMMET 1 |C-6
29 | 3510 0006 000 |A'JVFRFYIN- STOPPER 1
30 | 0350 0160 828 |PW WASHER 3 [8x28x3.0
31 | K710 0108 020 |Fik" Lk BOLT 3 |M8x20(7T)

32 | 3677 2535 001 |7°—1) PULLEY 1
33 | 0571 0005 028 |%— KEY 1 |5x28
34 | A284 0000 820 |Fizy” BOLT 1 |M8x20
35 | 3677 2541 000 |7°'L—+ PLATE 1
36 | K700 0606 014 |Fi'ILk BOLT 3 |M6x14(7T)
37 | 0853 1500 060 |VA'JLk V-BELT 1 |SC60W800
38 | 36100101 000 |A'IWRARYN— STOPPER 2
39 | 0834 0035 070 |Y—N%vy7’ SEAL CAP 2 |35x7
40 | 0350 0151 226 |PW WASHER 1 ]12%x26x%2.3
41 | 3677 2546 000 |7'—1JAssy PULLEY ASSY 1
S100 —96— 20/10/27



